
Final Review - Non-Calculator Part

Written. Show all work to justify your answers. Answers with no work or insufficient work will receive no credit.

Solve the equation in the interval [0°, 360°).
1) sin2 - sin - 12 = 0 1)

Solve the equation for solutions in the interval [0, 2 ).
2) sin 2x + sin x = 0 2)

Write the following as an algebraic expression in u, u > 0.
3) cos(arctan u) 3)

1



Verify that each equation is an identity.

4) sec  - 1
tan 

=
tan  

sec  + 1
4)

Verify that the equation is an identity.

5) cos(x - y)
cos(x + y)

=
1 + tan x tan y
1 - tan x tan y 5)
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Answer Key
Testname: 1316-FINALREVIEW-NON-CALCULATOR PART

1)

2) 0, 2
3

, , 4
3

3) u2 + 1
u2 + 1

4) sec  - 1
tan 

=
sec  - 1

tan 
·

sec  + 1
sec  + 1

=
sec2  - 1

tan (sec  + 1)
=

tan2
tan (sec  + 1)

=
tan 

sec  + 1

5) cos (x - y)
cos (x + y)

=
cos x cos y + sin x sin y
cos x cos y - sin x sin y

=
1/(cos x cos y)
1/(cos x cos y)

·
cos x cos y + sin x sin y
cos x cos y - sin x sin y

=

1 + tan x tan y
1 - tan x tan y

.
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